Приложение 7
Variant 1
Text 1
Dear Mrs Phipps. 

Re: Retail Banking

On the attached you will find the Bank’s proposed Schedule of Charges which will take effect as from 1st January, and will be reviewed annually.

We very much regret  that we are unable to continue offering ‘free banking’ to our customers. This recent change of policy is due to increase costs, and we feel that if we are to continue to maintain the professional level of personal service that we have always provided to our customers, we must now obtain a contribution to our expenses.

You will note that our charges are below the average levied by other UK banks, as we wish to remain competitive in this market.

The charges will be debited to your account monthly in arrears.

The minimum balance requirement for those accounts which are interest bearing has been reduced from USD 100,000.00 to USD 50,000.00 or currency equivalent. This reduction in the minimum balance requirement will therefore compensate for some of the charges which will have to be paid by yourselves.

If you have any questions concerning the new charges, would you please telephone either myself or my colleague, James Samuel.

Yours sincerely,

Wendy Bracewell, Account Manager
Task 1 Mark the statements T (true) or F (false) according to the information in the letter. 

a) The new charges will remain the same for 12 months.

b) The company didn’t have to pay bank charges before.

c) The bank’s policy has changed because the bank wants to be competitive.

d) Other UK banks make lower charges.

e) The company will have to pay the charges in advance.

f) If the company’s account balance is USD 55,000, they will be able to earn interest on this.

g) The company will be better off than before because of the extra interest they will earn.

Task 2 Find a word or phrase from Letter A that has a similar meaning

a) Each year or every year    a…………………..

b) Keep something at the same level    m………………..

c) Amount that partly meets costs but does not cover them completely   c………………….

d) Having the same value    e………………….

Text 2
SUMMARY GROUP PROFIT AND LOSS ACCOUNT

Audited for the year to March 31, 1998

	$ million
	1998
	1997

	Most of our revenue was earned from our main business, airline operations:

Income from other activities earned:

This gave us total Group turnover of:
	7,881

761

8,642
	7,608

751

8,359

	Our expenses comprised:

Pay and other employee costs:

Depreciation of fixed assets

Selling costs:

Other operational costs:
	2,211

551

1,217

4,159
	2,248

506

1,187

3,872

	In total, therefore, our overall Group operating costs were:
	8,138
	7,813

	Deducting this from our Group turnover left a Group operating profit of:

Other income and charges amounted to:

The net profit on sale of fixed assets during the year was:

Net interest payable amounted to:
	504

80

164

168
	546

256

20

182

	This produced a Group profit before tax of:

Then we provide for tax totaling:
	580

133
	640

90

	This produced a Group profit after tax of:
	447
	550

	Profit or loss from subsidiaries in which we have a minority interest:

This left a Group profit attributable to shareholders of:

From this we allowed for dividends representing a total of:
	13

460

176
	3

553

154

	Finally, this left a profit retained in the business of:
	284
	399


Earnings per share

The standard measure of a company’s profitability is calculated by dividing profit

Attributable to shareholders by the average number of shares.

On this basis, our earnings per share were:                                                           44.7p     55.7p

 Mark the statements T (true) or F (false) according to the information in the profit and loss account

a) The total Group turnover increased slightly on the previous year

b) Salaries paid to employees are part of the operating costs

c) Interest payable on loans is deducted from the profit after tax

d) British Airways sold off some of its assets in 1998

e) All the profit is distributed to shareholders.

f) Earnings per share were lower than in the previous year.

Variant 2

Text 1

Dear Sirs

Re: Banking facilities.

  The Bank is pleased to offer John Best LTD ( The company) banking facilities on the terms referred to below but otherwise subject to normal banking terms and conditions.

Facilities

  Withdrawals may be made under the following facilities provided that the total amount of withdrawals at any time shall not exceed the limit.

Overdraft limit: $35,000

Availability

  The Bank may at any time discontinue all or any of the facilities and/or may demand repayment of all sums owing. The facilities are due for review in twelve month’s time.

Interest rate

  Interest on the overdraft facility is to be charged at 2.25% per annum over the Bank’s Base Rate as published form time to time.

Fees

  An arrangement fee of $120 will be payable.

Security

  The repayment of all monies owed in respect of the facilities will be secured by: Business Premises at 44 Park Road, Bristol.

All costs and expenses, as mentioned in the General Terms and Conditions attached to his letter, shall be payable by The Company.

To accept this offer, please arrange for the enclosed copy of this letter to be signed and returned.

Yours faithfully,

Graham Collins

Branch Manager
Task 1 Mark the statements T (true) or F (false) according to the information in the letter. 
a) According to the latter, the company can overdraw up to a maximum of $35,000.

b) The period for which the terms of this letter are valid is three years.

c) The bank has the right to stop the overdraft facility and ask for the money to be paid back before the end of this period.

d) Other than interest, there will be no charges to pay

e) The overdraft facility will be secured by a property.

f) The contract which the company should sign will be sent at a later date.

Task 2 Find a word or phrase from Letter A that has a similar meaning
a) Go above a specified maximum level    e……….  a l…………

b) By the year  p………  a…………

c) Fixed amount that has to be paid for a service   f………….

d) Place where a company carries out its business activities  p…………..

Text 2
SUMMARY GROUP BALANCE SHEET

AUDITED for the year to March 31, 1998

	$ million
	1998
	1997

	The Group’s fixed assets comprised:

Our fleet:

Property:

Computers, ground and other equipment:

Investment in other business:
	7,229

1,181

259

388
	6,337

988

263

684

	Added together these represented total fixed assets of:
	9,055
	8,272

	Our current assets, mainly money we are owed, our ‘cash-in-hand and stock, represented:

Most passengers book and pay for tickets in advance. This money, and amounts owing to creditors that are payable within one year, totaled:
	2,245
2,281
	2,164

3,160


	Deducting this gave us net current liabilities of:
	576
	996

	Adding this to the total fixed assets left us with total assets less current liabilities of:

In addition, we owed to creditors amounts due after more than a year including:

Long-term borrowings of:

We have also made provision for other liabilities and charges:

We also had contributions from a minority shareholder in one of our subsidiaries of:
	8,479

4,978

180
	7,276

4,034

284

26

	Thus our assets less liabilities represented:
	3,321
	2,984

	The money invested in the British Airways Group comprised:

Our share capital, some 1,038.9 million 25p shares:

Our reserves:


	260

3,061
	251

2,733

	
	3,321
	2,984


Mark the statements T (true) or F (false) according to the information in the balance sheet.

a)The airline’s fixed assets include aircraft.

b) The company has acquired new aircraft since the previous year.

c) The amount of current assets was greater that the amount of current liabilities.

d) Net current liabilities are calculated by deducting current liabilities from total assets.

e) British Airways has issued more that a billion shares at the time of publishing these accounts.

f) British Airways had increased its reserves since the previous year.

